
 

 

 
 
 
 
 
 

APPOLO STUDY CENTRE 
TRB P.G. 2015 – ECONOMICS 

 
1. Disinvestment in Public Sector enterprises in the feature of Industrial Policy of 

A. 1956  B. 1977  C. 1980  D. 1991 
nghJj;Jiw KjyPl;il jpUk;g ngWjy; vd;gJ ve;j Mz;L njhopw;nfhs;ifapd; 
mk;rkhFk;? 
A. 1956  B. 1977  C. 1980  D. 1991 
 

2. The period for plan holiday in Indian Five Year Plan is 
A. 1975 – 78 B. 1966 – 69 C. 1967 – 70  D. 1972 – 75 
,e;jpa Ie;jhz;L jpl;lj;jpy; jpl;l tpLKiw fhyk; vd;gJ 
A. 1975 – 78 B. 1966 – 69 C. 1967 – 70  D. 1972 – 75 
 

3. The important objective of Tenth Five Year Plan is 
A. Towards faster and more inclusive growth 
B. Average GOP growth of 9% 
C. To increase energy efficiency by 20% 
D. Universal access to primary education by 2007 
gj;jhtJ Ie;jhz;L jpl;lj;jpd; Kf;fpa Nehf;fk; 
A. tpiuthd> cs;shh;e;j tsh;r;rpia Nehf;fp 
B. nkhj;j Njrpa tUthapd; xd;gJ rjtPj Mz;L ruhrhp tsh;r;rp 
C. vhprf;jp jpwid 20 rjtPj mstpw;F cah;j;Jjy; 
D. 2007f;Fs; midtUf;Fk; Muk;g fy;tp 

 
4. ‘Food, work and productivity’ was the focus of 

A. VI Five Year Plan  B. VII Five Year Plan 
C. VIII Five Year Plan  D. IX Five Year Plan 
‘czT> Ntiy kw;Wk; cw;gj;jp jpwd;’ vd;gij Kd;dpWj;jpa Ie;jhz;L jpl;lk; 

A. MwhtJ Ie;jhz;L jpl;lk; B. VohtJ Ie;jhz;L jpl;lk; 

C. vl;lhtJ Ie;jhz;L jpl;lk; D. xd;gjhtJ Ie;jhz;L jpl;lk; 

 
5. India’s First Five Year Plan was based on 



 

 

A. Mahalanobis four sector model  B. Harrod – Domar growth model 
C. Gandhian model    D. Solow model 
,e;jpahtpd; Kjy; Ie;jhz;L jpl;lk; ve;j tsh;r;rp khjphpia rhh;e;jJ 
A. k`yNehgprpd; ehd;F Jiw khjphp B. `uhl; - Nlhkh; tsh;r;rp khjphp 

C. fhe;jpad; khjphp    D. NrhNyh khjphp 

 
6. The Public Sector Steel Plant in Bhilai was set up with the collaboration of 

A. Germany  B. USSR C. England  D. Japan 
gpyhapy; cs;s nghJj;Jiw ,Uk;G v/F njhopw;rhiy ve;j ehl;L xj;Jiog;Gld; 
mikf;fg;gl;lJ? 
A. n[h;kdp   B. Nrhtpaj; a+dpad; C. ,q;fpyhe;J D. [g;ghd; 
 

7. Gandhian model emphasized growth in 
A. Industries   B. Agriculture and cottage industries 
C. Service sector   D. Public sector 
fhe;jpad; khjphp ve;j tsh;r;rpapid typAWj;jpaJ 
A. njhopy; rhiyfs;  B. tptrhak; kw;Wk; Fbir njhopy; 
C. Nrit Jiw   D. nghJj;Jiw 

 
8. Meeting the needs of the present generation without compromising the needs of 

future 
A. Inclusive growth   B. Sustainable development 
C. Short term development  D. Economic development 
‘vjph;fhy jiyKiwapd; Njitfis ghjpf;fhky; jw;Nghija jiyKiwapd; 
Njitfis g+h;j;jp nra;jy;’ vd;gJjhd; 

A. cs;shh;e;j tsh;r;rp   B. tsq;Fd;wh tsh;r;rp 
C. FWfpa fhy tsh;r;rp  D. nghUshjhu tsh;r;rp 

 
9. The Second Five Year Plan was prepared by 

A. M. Visveshvarayya   B. S.N. Agarwal 
C. A. Dalal     D. P.C. Mahalanobis 
,uz;lhtJ Ie;jhz;L jpl;lj;ij jahhpj;jth; 
A. M. tp];Nt];tua;ah   B. S.N. mfh;thy; 

C. A. jyhy;    D. P.C. k`yNehgp]; 

 
10. Which of the following is a short coming of public sector? 

A. Mounting losses   B. Political influence 
C. Over capitalization   D. All the above 
fPo;tUtdtw;Ws; nghJJiwapd; Fiwghlhf $wg;gLtJ? 
A. mjpfhpj;J tUk; e~;lk;  B. murpay; FWf;fPL 



 

 

C. kpif %yjdkply;   D. Nkw;fz;l midj;Jk; 

 
11. The industrial policy statement of 1956 placed iron and steel industry in 

A. Schedule A  B. Schedule B C. Schedule C D. Schedule D 
1956Mk; Mz;L njhopy; nfhs;ifapy; ,Uk;G> v/F njhopy; ve;j gl;baypy; 
,lk;ngWfpwJ? 
A. gl;bay; A  B. gl;bay; B C. gl;bay; C D. gl;bay; D 
 

12. Which of the following committee does not deal with the problems of small scale 
industries in India? 
A. Abid Hussain Committee  B. Boothalingam Study Group 
C. Karve Committee   D. S.P. Gupta Study Group 
fPo;tUtdtw;Ws; vJ rpWnjhopy;fspd; gpur;rpidfis Muhatpy;iy 
A. mgpl;̀ _ird; FO   B. g+jypq;fk; FO 

C. fhh;Nt FO    D. S.P. Fg;jh FO 

 
13. The author of the book, “Labour Problems in Indian Industry” is 

A. V.B. Karnik  B. V.B. Singh C. V.V. Giri D. S.D. Punekar 
‘,e;jpa njhopw;rhiyapy; njhopyhsh; gpur;ridf;fs;’ vd;w E}ypd; Mrphpah; 

A. V.B. fhh;dpf;  B. V.B. rpq;  C. V.V. fphp  D. S.D. GNdfh; 
 

14. Employees State Insurance Act was passed in 
A. 1947  B. 1948  C. 1949 D. 1950 
Njrpa njhopyhsh; fhg;gPl;L rl;lk; ,aw;wg;gl;l Mz;L 
A. 1947  B. 1948  C. 1949 D. 1950 
 

15. The development bank established in 1964 as a wholly owned subsidiary or 
Reserve Bank of India is 
A. Industrial Finance Corporation of India 
B. Industrial Credit and Investment Corporation of India 
C. Industrial Development Bank of India 
D. Industrial Reconstruction Bank of India 
1964y; ,e;jpa hprh;t; tq;fpapd; KO Jiz epWtdkhf mikf;fg;gl;l tsh;r;rp   
tq;fpahdJ 
A. ,e;jpa njhopy; epjp fofk;  
B. ,e;jpa njhopy; fld; kw;Wk; KjyPl;L fofk; 
C. ,e;jpa njhopy; tsh;r;rpt q;fp 
D. ,e;jpa njhopy; rPuikg;G tq;fp 

 
16. National Bank for Agriculture and Rural Development (NABARD) is funded by 

A. Government of India  B. Reserve Bank of India 



 

 

C. World Bank    D. All the above 
Ntshz;ik> fpuhk tsh;r;rp tq;fpf;fhd Njrpa tq;fpapd; epjp %yq;fs; 
A. ,e;jpa muR    B. ,e;jpa hprh;t; tq;fp 
C. cyf tq;fp    D. ,it midj;Jk; 

 
17. The Chairman of National Commission on Farmers, constituted in 2004, was 

A. S.N. Sinha   B. M.S. Swaminathan 
C. M. Ahulwalia   D. C.H. Hanumantha Rao 
2044y; mikf;fg;gl;l Njrpa tptrhapfs; fkp~dpd; jiyth; 
A. S.N. rpd;̀ h   B. M.S. Rthkpehjd; 
C. M. mYthypah  D. C.H. mDke;juht; 
 

18. Zamindari System was introduced in India by 
A. Lord Cornwallis  B. Lord Ribbon 
C. Lord Canning   D. Sir Thomas Munro 
[kPd;jhhp Kiwia ,e;jpahtpy; mwpKfg;gLj;jpath; 
A. fhud;thypd; gpuG  B. hpg;gd; gpuG 
C. fhdpq; gpuG   D. rh;jhk]; kd;Nuh 

 
 

19. Which of the following is not the feature of the industrial pattern of India on the 
eve of planning (1950) 
A. Lop sided pattern of Industry 
B. High capital intensity 
C. Preponderance of consumer goods industries 
D. Low capital intensity 
fPo;tUtdtw;Ws; vJ> ,e;jpahtpd; jpl;lkpLjy; Jtf;fj;jpd; NghJ> njhopy; 
mikg;G Kiwapd; mk;rq;fspd; xd;whf ,y;iy (1950) 
A. rkgykw;w> tYtw;w njhopy; mikg;G 
B. mjpf %yjd nrwpT 
C. Efh;Nthh; nghUs;fis cw;gj;jp nra;Ak; njhopw;rhiyfspd; Mjpf;fk; 
D. Fiwe;j %yjd nrwpT 

 
20. ‘NASSCOM’ is related to 

A. Trade Union    B. Software Companies 
C. Cell-Phone Manufacturing D. Space – Research 
‘NASSCOM’ vd;w nrhy; _____ cld; njhlh;GilaJ 

A. njhopw;rq;fk;    B. nkd;nghUs; jahhpg;G epWtdq;fs; 
C. miyNgrp jahhpg;G   D. tpz;ntsp Muha;r;rp 

 



 

 

21. Which of the following is jointly called as Green Revolution? 
A. HYVP and IADP  B. HYVP and IRDP 
C. HYVP and RLEGP  D. HYVP and NREP 
gpd;tUk; ve;j ,U jpl;lq;fs; $l;lhf gRikg;Gul;rp vd;W miof;fg;gLfpwJ? 
A. HYVP and IADP  B. HYVP and IRDP 
C. HYVP and RLEGP  D. HYVP and NREP 
 

22. NABARD was set up in the year 
A. 1981  B. 1983  C. 1982  D. 1984 
Ntshz;ik kw;Wk; fpuhkg;Gw tsh;r;rpf;fhd Njrpa tq;fp ve;j Mz;L 
Jtq;fg;gl;lJ? 
A. 1981  B. 1983  C. 1982  D. 1984 
 

23. Mechanization in Agriculture is possible if the average size of land is 
A. Large    B. Small   
C. Less than one hectare D. less than half hectare 
epyk; ve;j mstpy; ,Ue;jhy; tptrhaj;ij ,ae;jpukakhf;fyhk; 
A. nghpa mstpy;  B. rpwpa mstpy; 

C. xU n`f;lUf;Fs;  D. ghjp n`f;lUf;Fs; 

 
24. High yielding variety introduced in Green Revolution did not cover 

A. Pulses  B. Rice C. Wheat  D. Maize 
gRikg; Gul;rpapd; cah; tpisr;ry; jpl;lj;jpd; fPo;f;fz;l vJ tutpy;iy? 
A. gUg;G  B. mhprp C. NfhJik D. Nrhsk; 
 

25. Bhoodan Movement was started by 
A. Gandhi  B. Vinoba Bhave  C. Jawaharlal Nehru D. Rajaopalachari 
G+jhd; vOw;rpapd; Jtf;fpath; 
A. fhe;jp    B. tpNdhghghNt   

C. [t`h;yhy; NeU  D. uh[Nfhghy rhhp 

 
26. The Government of India appointed the National Income Committee in the year 

A. 1949  B. 1969  C. 1991  D. 2009 
,e;jpa murhq;fk;> Njrpa tUkhd FOit Vw;gLj;jpa Mz;L 
A. 1949  B. 1969  C. 1991  D. 2009 
 

27. Which of the following sector contributes high percent of incomes to the growth 
of National Income of India? 
A. Agricultural sector  B. Industrial sector 
C. Service Sector   D. All the above 



 

 

,e;jpa Njrpa tUkhdk; tsh;r;rp miltjpy; ve;j Jiw mjpf gq;fPL 
mspf;fpd;wJ? 
A. Ntshz;ikj;Jiw  B. njhopw;Jiw 
C. Nritj;Jiw   D. ,it midj;Jk; 

 
28. India is in the group of 

A. Lower middle income economies B. Upper middle income economies 
C. High Income economies   D. None of the above 
,e;jpah ehL _____ gphptpy; cs;sJ 

A. Fiwe;j eLj;ju tUkhd ehLfs; B. mjpf eLj;ju tUkhd ehLfs; 

C. cah; tUkhd ehLfs;   D. ,tw;wpy; vJTkpy;iy 

 
29. The “Food for Work” Programme was renamed as 

A. National Rural Employment Programme (NREP) 
B. Rural Landless Employment Guarantee Programme (RLEGP) 
C. Jawahar Rozgar Yojana (JRY) 
D. Indira Awass Yojana (IAY) 
“czTf;F Ntiy” ve;j jpl;lj;jpd; kW ngah; 

A. Njrpa fpuhkg;Gw Ntiytha;g;Gj;jpl;lk;  
B. fpuhkGw epykw;Nwhh; Ntiy cWjp jpl;lk; 
C. [tfh; Ntiy tha;g;G jpl;lk; 
D. ,e;jpuh Ntiytha;g;G jpl;lk; 

 
30. The period of Tenth Five Year Plan 

A. 2007 – 2012   B. 2002 – 2007 
C. 2013 – 2018   D. 1995 – 2000 
gj;jhtJ Ie;jhz;Lj;jpl;l fhyk; 
A. 2007 – 2012   B. 2002 – 2007 
C. 2013 – 2018   D. 1995 – 2000 
 

31. The 12th Finance Commission fixed the indicative amount of overall transfer to 
states in central gross revenue at 
A. 28 percent B. 38 percent  C. 48 percent D. 58 percent 
kj;jpa murpd; nkhj;j tUthapypUe;J khepyq;fSf;F khw;wg;glk; midj;J 
njhifapd; msT _____ vd;W 12tJ epjpf;FO eph;zak; nra;Js;sJ> 

A. 28 rjtPjk; B. 38 rjtPjk;  C. 48 rjtPjk; D. 58 rjtPjk; 

 
32. Which one of the following tax is levied by local governments in India? 

A. Customs duties  B. Property tax 
C. Income tax   D. Wealth tax 



 

 

gpd;tUk; thpfspy; cs;shl;rp muRfshy; ,e;jpahtpy; tpjpf;fg;gLk; thp 
A. Rq;fthpfs;   B. nrhj;J thp 
C. tUkhd thp   D. nry;t thp 

 
33. Professional Tax is a source of revenue to 

A. Central Governments  B. State Governments 
C. Local Governments   D. None of these 
njhopy;thp _____ tUtha; Mjhukhf cs;sJ 

A. ika muR    B. khepy muRfs; 

C. cs;shl;rp muRfs;   D. ,it VJkpy;iy 

 
34. The United Nations Organization (UNO) classified the countries on the basis of 

A. Size of Population   B. Standard of living of people 
C. Per capita income   D. Gross national income 
If;fpa ehLfspd; rig cyf ehLfis vij mbg;gilahff; nfhz;L 
tifg;gLj;jpAs;sJ? 
A. kf;fs;njhifapd; msT  B. kf;fspd; tho;f;if juk; 
C. jyh tUkhdk;   D. nkhj;j ehl;L tUkhdk; 

 
35. Which is the Chronic Malady in India? 

A. Population growth   B. Unemployment 
C. Drought Conditions   D. Poverty 
vJ ,e;jpahtpd; epiyahd Nehahf cs;sJ? 
A. kf;fs; njhif tsh;r;rp  B. Ntiyapd;ik 
C. twl;rp epiyik   D. Vo;ik 

 
36. The contingency fund is held by the ministry of finance on behalf of the 

A. President of India   B. Vice – President of India 
C. Prime Minister of India  D. Chief Justice of India 
vjph;ghuh nryTf;fhd epjpia epjp mikr;rfk; _____ rhh;gpy; itj;Js;sJ 
A. ,e;jpa FbauRj;jiyth;  B. ,e;jpa FbauR Jizj;jiyth; 

C. ,e;jpa gpujkh;    D. ,e;jpa jiyik ePjpgjp 

 
37. The objectives of fiscal policy are 

A. Full employment     B. Price stability 
C. To accelerate the rate of economic growth D. All the above 
epjpf; nfhs;ifapd; Nehf;fk; 
A. KO Ntiytha;g;G      B. tpiy epiyj;jd;ik 
C. nghUshjhu tsh;r;rp tPjj;ij JhpjgLj;Jjy; D. Nkw;$wpa midj;Jk; 

 



 

 

38. If there is unemployment in the economy, the fiscal policy should be geared to 
A. Increase the level of aggregate demand 
B. Decrease the level of aggregate demand 
C. Maintain the level of aggregate demand 
D. Decrease the level of aggregate supply 
nghUshjhuj;jpy; Ntiyapd;ik ,Uf;Fk; nghOJ> epjpf;nfhs;if 
A. xl;Lnkhj;j Njitapd; msit mjpfhpf;f Ntz;Lk; 
B. xl;Lnkhj;j Njitapd; msit Fiwf;f Ntz;Lk; 
C. xl;Lnkhj;j Njitapd; msit mg;gbNa itf;f Ntz;Lk; 
D. xl;Lnkhj;j mspg;gpd; msit Fiwf;f Ntz;Lk; 

 
39. Capital budget consists of 

A. Capital receipts and payments  B. Revenue receipts and payments 
C. Total revenue and expenditure  D. Revenue receipts and expenditure 
%yjd epjpepiy mwpf;if gpd;tUtdtw;iw cs;slf;fpaJ 
A. %yjd gw;W kw;Wk; gzk; nrYj;jy; 
B. tutpd; gw;W kw;Wk; gzk; nrYj;jy; 
C. nkhj;j tUtha; kw;Wk; nryT 
D. tutpd; gw;W kw;Wk; nryT 

 
40. The Chairman of the 13th Finance Commission of India is 

A. K.C. Pant  B. A.M. Khusro 
C.  C. Rangarajan  D. Vijay L. Kelhar 
,e;jpahtpd; 13tJ epjpf;FOtpd; jiyth; 
A. Nf.rp. ge;j;  B. A.M. F];Nuht; 

C. rp nuq;fuh[d;  D. tp[a; vy;. Nfy;fh; 

 
41. Internal public debt means 

A. The Government promises to pay off at some future date 
B. Public loans floated within the country 
C. Public loans floated outside the country 
D. The loans utilized for production 
cs;ehl;Lf;fld; vd;gJ 
A. vjph;fhyj;jpy; jpUg;gp nrYj;Jtjhf muR cWjpaspj;j fld; 
B. cs;ehl;by; ngwg;gLfpd;w fld; 
C. ntspehLfspypUe;J ngwg;gLfpd;w fld; 
D. cw;gj;jpf;fld; 

 
42. Sinking Fund is established by the Government for the following purpose 

A. To redeem the public debt 



 

 

B. To increase the public revenue 
C. To improve the standard of living of the people 
D. To reduce the tax burden 
fld;fopT epjp gpd;tUk; Nehf;fj;jpw;fhf murhy; cUthf;fg;gLfpd;wJ 
A. nghJf;flid jPh;g;gjw;F 
B. nghJ tUthia mjpfhpg;gjw;F 
C. kf;fspd; tho;f;ifj; juj;ij Nkk;gLj;Jtjw;F 
D. thpr;Rikiaf; Fiwg;gjw;F 

 
43. Unproductive debt means 

A. The debts are raised without any intension to repay 
B. Borrowing for creating a permanent asset 
C. Debt creates neither any asset nor any income to the government 
D. Borrowing from external sources 
cw;gj;jpaw;w fld; vd;gJ 
A. jpUg;gp nrYj;Jk; Nehf;fkw;w fld; 
B. epue;jukhd nrhj;jpid cUthf;f ngwg;gLk; fld; 
C. murpw;F ve;j tpjkhd nrhj;jpidNah tukhdj;ijNah juhj fld; 
D. ntsp %yq;fspypUe;J ngwg;gLfpd;w fld; 

 
44. Fiscal deficit means 

A. Government borrowing from RBI 
B. Revenue expenditure minus revenue receipts 
C. Fiscal deficit minus interest payments 
D. Total expenditure minus non-debt receipts 
epjp gw;whf;Fiw vd;gJ 
A. muR hprh;t; tq;fpaplkpUe;J fld; thq;FtJ 
B. tUtha; gw;Wfis tUtha; nryTfspypUe;J fopj;jJ 
C. tl;b nryTfis epjpgw;whf;FiwapypUe;J fopj;jJ 
D. fldy;yh tuTfis nkhj;j nrytpdq;fspypUe;J fopj;J 

45. Financing the deficit through government borrowing from commercial banks is 
A. Inflationary   B. Non-inflationary 
C. Deflationary   D. Non-deflationary 
muR> tzpf tq;fpfsplkpUe;J fld; ngw;W gw;whf;Fiwia epjpahf;fk; nra;tJ 
A. gztPf;f jd;ikAilaJ  B. gztPf;f jd;ikaw;wJ 

C. gzthl;l jd;ikAilaJ  D. gzthl;l jd;ikaw;wJ 

 
46. 12 nations of European Union accepted a common currency namely 

A. Dollar  B. Pound  C. Euro  D. Dinar 
INuhg;gpa xd;wpaj;jpy; cs;s 12 ehLfs; Vw;Wf;nfhz;l nghJthd ehzak; 



 

 

A. lhyh;  B. gTz;l;  C. a+Nuh  D. jpdhh; 

 
47. In India, imports are classified as 

A. Agricultural and non-agricultural import 
B. Bulk and non-bulk imports 
C. Capital goods and leather products 
D. None of these 
,e;jpahtpy; ,wf;Fkjpia vt;thW gphpf;fpwhh;fs;? 
A. tptrha kw;Wk; tptrhak; my;yhj ,wf;Fkjp 
B. nkhj;j kw;Wk; nkhj;jk; my;yhj ,wf;Fkjp 
C. %yjd nghUl;fs; kw;Wk; Njhy; nghUl;fs; 
D. NkNy $wpa vJTkpy;iy 

 
48. Which country occupies the first place in India’s total exports at present? 

A. U.K  B. U.S.A  C. China  D. Sri Lanka 
,e;jpahtpd; nkhj;j Vw;Wkjpapy; jw;nghOJ Kjy; ,lj;jpy; cs;s ehL vJ? 
A. U.K  B. U.S.A  C. rPdh  D. =yq;fh 

 
49. The principle of maximum social advantage is called by Prof. Pigou as 

A. Principle of allocation of resources 
B. Principle of opportunity cost 
C. Principle of maximum aggregate welfare 
D. Principle of social welfare 
cr;repiy rKjha ed;ikf; nfhs;ifia Nguhrphpah;. gpF gpd;tUkhW $wpdhh; 
A. tsq;fisg; gphpj;jy; nfhs;if  B. tha;g;Gr; nryTf; nfhs;if 
C. cr;repiy nkhj;j eyd;nfhs;if D. rKjha eyf;nfhs;if 

 
50. As suggested by Prof. Findlay Shirras one of the following is a method of 

estimating taxable capacity. 
A. The Production Method     
B. The Cost-benefit Analysis Method 
C. National Income Accounting Method  
D. Benefit Principle 
Nguhrphpah;. gpd;l;Ny `puh]; ghpe;Jiuapd; gb thpjhq;Fk; jpwid eph;zak; 
nra;tjw;Fg; gad;gLk; Kiw 
A. cw;gj;jp Kiw    B. nryT-ed;ikg; gFj;jha;T Kiw 

C. NjrPa tUtha; fzf;fpLk; Kiw D. ed;ikf;Nfhl;ghL 

 
51. The modern view states that the transactions demand for money depends on 

A. Prices   B. Income 



 

 

C. Interest rates  D. Both Income and Interest rates 
etPd ghh;itapy; Ngu Nehf;fj;jpw;fhd gzj;jpd; Njit vij rhh;e;jpUf;fpd;wJ? 
A. tpiy   B. tUtha; 
C. tl;b tPjk;  D. tUtha; kw;Wk; tl;b tPjk; Mfpa ,uz;Lk;. 

 
52. Fisher’s quantity theory of money states that there is 

A. Direct relationship between money and prices 
B. Inverse relationship between money and prices 
C. Direct and proportionate relationship between money and prices 
D. Inverse and proportionate relationship between money and prices 
gp~hpd; gz msT Nfhl;ghL Fwpg;gpLtJ 
A. gzj;jpw;Fk; tpiyf;Fk; ,ilNa Neub njhlh;G 
B. gzj;jpw;Fk; tpiyf;Fk; ,ilNa vjph;kiw njhlh;G 
C. gzj;jpw;Fk; tpiyf;Fk; ,ilNa Neub kw;Wk; tpfpjhr;rhu njhlh;G 
D. gzj;jpw;Fk; tpiyf;Fk; ,ilNa vjph;kiw kw;Wk; tpfpjhr;rhu njhlh;G 

 
53. M4 measure of money supply in India consists of 

A. M3 + Total Post office deposits  B. M3 + Currency with the public 
C. M3 + Deposits with bank   D. M3 + Currency with the RBI 
,e;jpahtpy; M4 vd;Dk; gz mspg;G msT vd;gJ 

A. M3 + jghy; mYtyf nkhj;j itg;Gj;njhif 
B. M3 + nghJ kf;fsplk; cs;s gzk; 
C. M3 + tq;fpapy; cs;s itg;Gfs; 
D. M3 + RBI apy; cs;s gzk; 

 
54. Inflationary gap can be wipes out by 

A. Increase in consumption  B. Decrease in investment 
C. Decrease in savings   D. Increase in savings 
gztPf;f ,ilntspia ePf;f 
A. Efh;it mjpfg;gLj;j Ntz;Lk;  B. KjyPl;il Fiwf;f Ntz;Lk; 

C. Nrkpg;ig Fiwf;f Ntz;Lk;  D. Nrkpg;ig mjpfg;gLj;j Ntz;Lk; 

 
55. Discount rate policy is a policy of 

A. Central bank   B. Commercial banks 
C. Co-operative banks  D. Development banks 
 
fopT tPjf;nfhs;if ,tw;wpd; xU nfhs;ifahFk; 
A. ika tq;fp   B. tzpf tq;fpfs; 

C. $l;LwT tq;fpfs;  D. tsh;r;rp tq;fpfs; 

 



 

 

56. The expansion of MODVAT is 
A. Modern Value Added Tax B. Modified Value Added Tax 
C. Moderate Value Added Tax D. Model Value Added Tax 
MODVAT vd;gjd; tphpthf;fk; 
A. Modern Value Added Tax B. Modified Value Added Tax 
C. Moderate Value Added Tax D. Model Value Added Tax 
 

57. The process by which the money burden of a tax is transferred from one person to 
another is known as 
A. Shifting of tax  B. Transformation of tax 
C. Incidence of tax  D. Impact of tax 
thpapd; gzg;gS xUthplkpUe;J ,d;ndhUtUf;F khw;wg;gLk; Kiw 
A. thp Gul;Ljy;   B. thp khw;Wjy; 
C. thp epiyg;ghL  D. thpj;jhf;F 

 
58. One of the disadvantages of indirect taxes is 

A. Inconvenient   B. No civic consciousness 
C. Evasion    D. Reduction of inequality 
kiwKf thpapd; FiwghLfspy; xd;W 
A. trjpapd;ik   B. rKjha czh;tpd;ik 

C. Va;g;G    D. Vw;wj;jho;itf; Fiwj;jy; 

 
59. Prof. Shirras has given the following canons of public expenditure 

A. Canon of equitable distribution  B. Canon of productivity 
C. Canon of benefit    D. Canon of elasticity 
Nguhrphpah;. ~puh]; gpd;tUk; nghJ nryT tpjpia mspj;jhh; 
A. rkgfph;T tpjp   B. cw;gj;jp tpjp 

C. ed;ik tpjp   D. nefpo;T tpjp 

 
60. In India, the Public Accounts Committee is helping to 

A. Control public expenditure in India 
B. Increase the public revenue 
C. Reduce the inequalities of income 
D. Increase the employment opportunities 
,e;jpahtpy; nghJf;fzf;Ff; FO gpd;tUk; eltbf;iff;F cjTfpd;wJ 
A. nghJ nryitf; fl;Lg;gLj;j 
B. nghJ tUthiaf; $l;Ltjw;F 
C. tUtha; Vw;wj;jho;itf; Fiwg;gjw;F 
D. Ntiy tha;g;Gfisf; $l;Ltjw;F 

61. The sum of commercial bank reserves and currency notes with the public is called 



 

 

A. Standard money  B. High-powered money 
 C. Token Money   D. Paper money 

tzpf tq;fpfspd; ,Ug;Gfs; kw;Wk; nghJ kf;fsplk; cs;s fud;rp jhs;fspd; 
$Ljy; 
A. epiyahd gzk;  B. cah; Mw;wy; gzk; 

C. milahsg; gzk;  D. fhfpjg;gzk; 

 
62. The period of short-term loans providing by the central bank to the government is 

not exceeding 
A. 100 days  B. 60 days  C. 90 days  D. 120 days 
ika tq;fp muRf;F nfhLf;Fk; FWfpa fhy fld; fPNo nfhLj;Js;s fhy 
msTf;F kpfhky; ,Uj;jy; Ntz;Lk; 
A. 100 ehl;fs; B. 60 ehl;fs; C. 90 ehl;fs; D. 120 ehl;fs; 

 
63. Selling a product in a foreign market at a lower price compared to home market is 

called 
A. Subsidy  B. Tariff  C. Cartel  D. Dumping 
cs;ehl;L re;ijiatpl ntspehl;L re;ijapy; Fiwthd tpiyapy; nghUl;fis 
tpw;gij 
A. khdpak;  B. Rq;fthp  C. $l;likg;G D. Ftpj;jy; 

 
64. Head quarters of IMF is in 

A. Manila  B. Washington C. Canada  D. Berlin 
I.M.F. tpd; jiyik mYtyfk; mike;jpUf;Fk; ,lk; 

A. kzpyh  B. th~pq;ld; C. fdlh  D. ngh;ypd; 
 

65. Amount spent on government services such as research, disease control, 
infrastructure and food security is 
A. Green box subsidies  B. Blue Box subsidies 
C. Yellow box subsidies  D. White box subsidies 
Muha;r;rp> Neha; jLg;G> cs; fl;likg;G kw;Wk; czT ghJfhg;G Mfpa murpd; 
Nritfspy; Nkw;nfhs;sg;gLk; nryT 
A. gRik ngl;b khdpaq;fs;   B. ePy epw ngl;b khdpaq;fs; 
C. kQ;rs; epwg;ngl;b khdpaq;fs;  D. nts;is epw ngl;b khdpaq;fs; 

 
66. Who is regarded as the father of input-output analysis? 

A. Walras  B. Patinkin  C. Milton Friedman D. Leontief 
cs;sPL-ntspaPL Ma;tpd; je;ij vd;W fUjg;gLgth; ahh;? 
A. thy;uh]; B. ghl;bd;fpd; C. kpy;ld; g;hPl;Nkd; D. ypahz;Bg; 

 
 



 

 

 
67. Increase in cash reserve ratio leads to 

A. An expansion in the ability of a commercial bank to create credit 
B. Stability in the ability of a commercial bank to create credit 
C. A contraction in the ability of a commercial bank to create credit 
D. None of these 
nuhf;f ,Ug;G tPjk; cah;j;jg;gl;lhy; 
A. tzpf tq;fpfspd; fld; nfhLf;Fk; Mw;wy; mjpfhpf;Fk; 
B. tzpf tq;fpfspd; fld; nfhLf;Fk; Mw;wy; epiyahf ,Uf;Fk; 
C. tzpf tq;fpfspd; fld; nfhLf;Fk; Mw;wy; RUq;Fk; 
D. NkNy $wg;gl;lJ vJTk; ,y;iy 

 
68. The change in consumption expenditure as a result of changes in the real value of 

the stock of money in circulation is known as 
A. Classical dichotomy  B. Neutrality of money 
C. Real balance effect  D. Consumption function 
gz ,Ug;gpd; cz;ikahd kjpg;gpy; Vw;gLk; khw;wj;jpdhy; Efh;Tr; nrytpy; 
Vw;gLk; khw;wk; vd;gJ 
A. njhd;ik nghUshjhuj;jpd; ,U gphpTfs; 
B. gzj;jpd; eLepiyik 
C. cz;ik ,Ug;G tpisT 
D. Efh;T rhh;G 
 

69. High powered money is 
A. Loans and advances of banks 
B. Commercial bank reserves and currency held by the public 
C. Money held by banks 
D. Money held by Government 
Mw;wy; kpF gzk; vd;gJ 
A. tq;fpfs; toq;Fk; fld; kw;Wk; Kd; gzk; 
B. tzpf tq;fpfspd; nuhf;f ,Ug;G kw;Wk; kf;fsplk; cs;s gzk; 
C. tq;fpfsplk; cs;s gzk; 
D. murplk; cs;s gzk; 

 
70. Money supply consists of a combination of inside money and outside money. 

This view was held by 
A. Gurley and Shaw  B. Milton Friedman 
C. Tobin    D. J.M. Keynes 
gzj;jpd; mspg;G vd;gJ cs;spUg;G gzk; kw;Wk; ntspapUg;G gzk; Mfpatw;wpd; 
fyit jhd; vd;w fUj;ij nfhz;lth; 
A. fh;yP kw;Wk; ~h  B. kpy;ld; g;hPl;Nkd; 



 

 

C. Nlhgpd;    D. J.M. fPd;]; 

 
 

71. An increase in money supply will create 
A. rightward shift of LM curve  B. leftward shift of LM curve 
C. rightward shift of IS curve  D. leftward shift of IS curve 
gz mspg;G mjpfhpf;Fk;NghJ 
A. LM tis NfhL tyJ gf;fkhf ,lk; ngaUk; 
B. LM tis NfhL ,lJ gf;fkhf ,lk; ngaUk; 
C. IS tis NfhL tyJ gf;fkhf ,lk; ngaUk; 
D. IS tis NfhL ,lJ gf;fkhf ,lk; ngaUk; 

 
72. Stagflation refers to 

A. Inflation and rising unemployment B. Inflation and rising employment 
C. Deflation and rising unemployment D. Deflation and rising employment 
Njf;f gztPf;fk; vd;gJ 
A. gztPf;fk; kw;Wk; mjpfhpf;Fk; Ntiyapd;ik 
B. gztPf;fk; kw;Wk; mjpfhpf;Fk; Ntiytha;g;G 
C. gzthl;lk; kw;Wk; mjpfhpf;Fk; Ntiyapd;ik 
D. gzthl;lk; kw;Wk; mjpfhpf;Fk; Ntiytha;g;G 

 
73. The concept of employment multiplier was first developed by 

A. J.M. Keynes   B. A.C. Pigou 
C. R.F. Kahn   D. J.S. Mill 
Ntiytha;g;G ngUf;fp vd;Dk; fUj;ij Kjypy; cUthf;fpath; 
A. J.M. fPd;];   B. A.C. gpF 
C. R.F. fhd;   D. J.S. kpy; 
 

74. Kaldor’s theory of trade cycle is based on 
A. Samuelson Analysis   B. Keynesian Analysis 
C. Hicksian Analysis   D. Hawtrey Analysis 
fhy;lh; toq;fpa thzpgr; #oy; Nfhl;ghL fPo;f;fz;l vtw;iw rhh;e;jpUf;fpwJ? 
A. rhKNty;rdpd; gFg;gha;T  B. fPd;rpd; gFg;gha;T 
C. `pf;rpd; gFg;gha;T   D. `hl;Nutpd; gFg;gha;T 

 
75. During inflation, fiscal policy aims at 

A. Balanced budget  B. Surplus budget 
C. Deficit budget   D. Revenue budget 
gztPf;f fhyj;jpy; gpd;gw;wg;gLk; epjpf;nfhs;if 
A. rkepiy tuT – nryT jpl;lk;  B. vr;rtuT – nryT jpl;lk; 



 

 

C. gw;whf;Fiw tuT – nryT jpl;lk; D. tutpd; tuT – nryT jpl;lk; 

 
76. The concept of Real Balance effect is given by 

A. Don Patinkin   B. Karl Marx 
C. Adam Smith   D. Alfred Marshall 
 
cz;ik ,Ug;G tpisT vd;w fUj;ijf; $wpath; 
A. lhd; ghl;bd;fpd;  B. fhh;y; khh;f;]; 

C. Mlk;];kpj;   D. My;gpul; khh;~y; 

 
77. Full employment means the absence of involuntary unemployment, whose view 

is this? 
A. The Keynesian View  B. The Classical View 
C. The Neo-Classical View  D. None of these 
KO Ntiytha;g;ghdJ jd;dpr;irahd Ntiyapy;yh epiyiaf; nfhz;bUg;gjhf 
$WtJ ahUila fUj;J? 
A. fPd;rpd; fUj;J   B. njhd;ik fUj;J 
C. Gjpa njhd;ikf; fUj;J  D. ,tw;wpy; vJTkpy;iy 

 
78. Who gave wealth effect? 

A. Say B. Patinkin  C. Pigou  D. Adam Smith 
nry;t tpisT gw;wp $wpath; ahh;? 
A. Nr B. Ngl;bdfpd; C. gpF  D. Mlk;];kpj; 

 
79. Real Balance Effect Integrates 

A. Money and Product markets B. Money and factor markets 
C. Factor and product markets D. Supply and demand 
cz;ik ,Ug;G tpisT xUq;fpizg;gJ 
A. gzk; kw;Wk; gz;lr; re;ijfis  B. gzk; kw;Wk; fhuzp re;ijfis 

C. fhuzp kw;Wk; gz;l re;ijfis D. mspg;G kw;Wk; Njit 

 
80. The combined effects of multiplier and accelerator is known as 

A. Credit multiplier   B. Super multiplier 
C. Employment multiplier  D. Investment multiplier 
ngUf;fp-KLf;fp xUq;fpize;j tpisT vd;gJ 
A. fld;ngUf;fp    B. kpifg;ngUf;fp 
C. Ntiytha;g;G ngUf;fp  D. KjyPl;Lg; ngUf;fp 

 
81. Keynes stated that Investment in the short-term is determined by the changes in 

A. Rate of interest  B. Marginal efficiency of capital 



 

 

C. Rate of savings  D. All of these 
fPd;]pd; fUj;Jg;gb> FWfpa fhyj;jpy; KjyPL ______ y; khw;wq;fshy; 
jPh;khdpf;fg;gLfpwJ 
A. tl;b tpfpjk;   B. ,Wjpepiy %yjd Mf;fj;jpwd; 

C. Nrkpg;G tpfpjk;  D. ,it midj;Jk; 

 
82. Increase in capital stock will lead to 

A. A rise in marginal efficiency of capital 
B. A rise in the rate of interest 
C. A fall in marginal efficiency of capital 
D. A rise in savings 
%yjd ,Ug;G mjpfhpg;G vjw;F top tFf;Fk; 
A. ,Wjpepiy %yjd Mf;fj;jpwd; cah;tJ 
B. tl;b tpfpjk; cah;tJ 
C. ,Wjpepiy %yjd Mf;fj;jpwd; FiwtJ 
D. Nrkpg;G cah;tJ 

 
83. Who said “supply creates its own demand”? 

A. J.B. Say  B. J.S. Mill  C. Pigou  D. Keynes 
“mspg;Gjd; Njitiaj; jhNd cUthf;fpf;nfhs;Sk;” vd;W $wpath; ahh;? 

A. J.B. Nr  B. J.S. kpy;  C. gpF  D. fPd;]; 

 
84. According to Keynes, the level of employment depends on 

A. Effective demand  B. Rate of interest 
C. Savings    D. Money supply 
fPd;];-d; $w;Wg;gb Ntiytha;g;G epiy ,jidr; rhh;e;J mike;Js;sJ 
A. tpisTs;s Njit  B. tl;btPjk; 
C. Nrkpg;G    D. gzj;jpd; mspg;G 

 
85. What are the two factors determined the effective demand? 

A. Aggregate supply function and aggregate demand function 
B. Aggregate savings function and aggregate demand function 
C. Aggregate investment function and aggregate supply function 
D. None of these 
tpisTs;s Njitia jPh;khdpf;Fk; ,uz;L fhuzpfs; ahit? 
A. xl;Lnkhj;j mspg;Gr; rhh;G kw;Wk; xl;Lnkhj;j Njitr; rhh;G 
B. xl;Lnkhj;j Nrkpg;Gr; rhh;G kw;Wk; xl;Lnkhj;j Njitr; rhh;G 
C. xl;Lnkhj;j KjyPl;Lr; rhh;G kw;Wk; xl;Lnkhj;j mspg;Gr; rhh;G 
D. ,tw;wpy; vJTkpy;iy 

 



 

 

86. Total demand for money is 
A. 

1 2 1 2
( ) ( )Md M M L y L r= + = +   B. Md = Mt 

C. Md = Ms    D. All of these 
gzj;jpd; nkhj;j Njit vd;gJ 
A. 

1 2 1 2
( ) ( )Md M M L y L r= + = +   B. Md = Mt 

C. Md = Ms    D. ,it midj;Jk; 
 

87. Net profit is 
A. Gross profit – implicit cost  B. Total income 
C. Total costs     D. Revenue – costs 
epfu yhgk; vd;gJ 
A. nkhj;j ,yhgk; - cs;sPl;Lr; nryT B. nkhj;j tUtha; 
C. nkhj;j nryT     D. tUtha; - nryT 

 
88. The term ‘Social Accounting’ was first introduced by 

A. Adam Smith  B. Hicks C. Keynes  D. Marshall 
“rKjha fzf;fPL” – vd;fpd;w nrhy;iy Kjd; Kjyhf mwpKfg;gLj;jpath; ahh;? 

A. Mlk;];kpj;  B. `pf;]; C. fPd;];  D. khh;~y; 

 
89. According to Keynes, consumption function, Marginal Propensity to Consume 

(MPC) is 
A. MPC = 0 B. 0 < MPC > 1  C. MPC < 0  D. 0 < MPC < 1 
fPd;]pd; Efh;Tr; rhh;gpd;gb> ,Wjpepiy Efh;T ehl;lk; (MPC) vd;gJ 
A. MPC = 0 B. 0 < MPC > 1  C. MPC < 0  D. 0 < MPC < 1 
 

90. 
p t

C C C= +  is stated by 

A. Keynes  B. Milton Friedman C. Duesenberry D. Farell 

p t
C C C= +   vd;W $wpath; ahh;? 

A. fPd;];  B. kpy;ld; /gphpl;nkd; C. bA];d;nghp D. /Nguy; 
 

91. Oligopoly is the form of market organisation in which 
A. there are a few sellers  B. there are two sellers 
C. there are more sellers  D. none of these 
re;ij mikg;gpy; xypNfhNghyp vd;gJ 
A. xU rpy tpw;gidahsh;fs; ,Ug;gh; B. ,uz;L tpw;gidahsh;fs; ,Ug;gh; 

C. epiwa tpw;gidahsh;fs; ,Ug;gh; D. ,tw;Ws; vJTkpy;iy 

 
92. Marginal land has been defined as the land on which 

A. High rent is charged  B. Low rent is charged 



 

 

C. Very low rent is charged  D. No rent is charged 
,Wjpepiy epyk; vd;gJ tiuaWf;fg;gl;Ls;sJ? 
A. mjpf thuk; t#ypg;gJ   B. Fiwthd thuk; t#ypg;gJ 

C. kpff;Fiwthd thuk; t#ypg;gJ D. thuk; ,y;yhky; ,Ug;gJ 

 
93. “Rent arises out of differences in fertility of the soil” who said this? 

A. Stonier  B. Hayek  C. Ricardo  D. Marshall 
“epyq;fspd; ts NtWghl;lhy; thuk; Njhd;Wfpd;wJ” vd;W $wpath; ahh;? 

A. ];Nlhdpah; B. N`af;  C. hpf;fhh;Nlh D. khh;~y; 

 
94. Which of the theories of wages is the name of J.S. Mill associated? 

A. Marginal productivity theory of wages 
B. Wages fund theory 
C. Subsistence theory of wages 
D. Iron law of wages 
J.S. kpy; ve;j $yp Nfhl;ghl;il cUthf;fpdhh;? 

A. ,Wjpepiy cw;gj;jp jpwd; $yp Nfhl;ghL B. $ypepjp Nfhl;ghL 
C. guhkhpg;Gf; $yp Nfhl;ghL    D. $ypapd; ,Uk;G tpjp 

 
95. Holding cash for buying shares is 

A. Precautionary motive  B. Transaction motive 
C. Speculative motive   D. None of these 
gj;jpuq;fis thq;f gzj;ij nuhf;fkhf ifapy; itj;jpUg;gJ 
A. Kd;Ndr;rhpf;if Nehf;fk;  B. Ngu Nehf;fk; 
C. CfNehf;fk;    D. Nkw;$wpa VJkpy;iy 

 
96. If the elasticity of average revenue curve is less than unity, the correspondent 

marginal revenue will be 
A. Positive  B. negative   C. more  D. less 
ruhrhp tUtha; tisNfhbd; nefo;r;rp jd;ik xd;Wf;F Fiwthf ,Ug;gpd;> 
mjw;F ,izahd ,Wjpepiy tUtha; NfhLk; 
A. NeubahdJ B. vjph;kiwahdJ C. mjpfkhdJ D. FiwthdJ 
 

97. The average revenue curve will coincide with the marginal revenue curve under 
A. perfect competition   B. monopolistic competition 
C. monopoly    D. duopoly 
ruhrhp tUtha; NfhL ,Wjpepiy tUtha; tisT Nfhl;bw;F xd;W Nrh;e;jJ vjpy; 
vd;why; 
A. epiwT Nghl;bapy;   B. Kw;Whpik Nghl;bapy; 

C. Kw;Whpikapy;    D. ,Uth; Kw;Whpikapy; 



 

 

 
98. Demand will have greater influence on price in 

A. the short period  B. market period 
C. long period   D. secular period 
Njit> tpiyapy; mjpfkhf nray;tpisT nfhs;tJ 
A. FWfpa fhyj;jpy;  B. mq;fhb fhyj;jpy; 

C. ePz;lfhyj;jpy;  D. epiyj;J ePbj;j fhyj;jpy; 

 
99. The monopolistic would always fix the output of his product at that level where 

the elasticity of average revenue is 
A. less than one   B. equal to one 
C. greater than one  D. zero 
Kw;Whpik Nghl;bahsh; vg;nghOJk; nghUs; ntspaPl;bik eph;zak; nra;tJ> 
ruhrhp tUtha; nefo;r;rpapd; msT 
A. xd;iwtpl Fiwthf ,Uf;Fk; NghJ  B. xd;Wf;F rkkhf ,Uf;Fk;NghJ 
C. xd;iwtpl mjpfkhf ,Uf;Fk; NghJ  D.  g+[;[pakhf ,Uf;Fk; NghJ 

 
 

100. The kinked demand hypothesis is designed to explain 
A. Price and output determination  B. price rigidity 
C. price leadership    D. collusion among rivals 
FWf;F Njit fUj;JNfhs; fPNo nfhLf;fg;gl;ljpy; mij tpthpf;f 
cUthf;fg;gl;lJ? 
A. tpiy kw;Wk; cw;gj;jp eph;zak; nra;a  B. epiyahd tpiy 
C. tpiy jiyik       D. Kuz;ghL ,ilNa ,izg;gjw;F 

 
101. In the short run, average cost and marginal cost curves intersect at the point 

where 
A. Marginal cost is minimum  B. Average cost is maximum 
C. Average cost is minimum  D. None of these 
FWfpa fhyj;jpy; ruhrhp tpiy kw;Wk; ,Wjpepiy tpiy tisNfhLfs; 
xd;iwnahd;W re;jpf;Fk; ,lk; 
A. ,Wjpepiy nryT Fiwe;j gl;rj;jpy; ,Uf;Fk; NghJ 
B. ruhrhp nryT cah;e;j gl;rj;jpy; ,Uf;Fk; NghJ 
C. ruhrhp nryT Fiwe;j gl;rj;jpy; ,Uf;Fk; NghJ 
D. vitAk; ,y;iy 

 
102. The different combination of two factor inputs which the firm can purchase at 

given price with outlay is given by 
A. Iso-utility curve  B. Iso – product curve 



 

 

C. Iso – cost line   D. Price line 
xU epWtdk; jd;dplk; cs;s gzj;ijf; nfhz;L Fwpg;gpl;ltpiyapy; 
thq;ff;$ba ,uz;L cw;gj;jp fhuzpfspd; gy;NtW njhFg;ig Fwpg;gJ 
A. rk – gad;ghl;L tisNfhL  B. rk – cw;gj;jp tisNfhL 

C. rk – nryT NfhL    D. tpiyNfhL 

 
103. The law of returns to scale studies the change in output when 

A. All inputs are increased in the same proportion 
B. All inputs are increased in different proportion 
C. One factor is changes keeping the quantities of other factors constant 
D. All factors are changed keeping the quantity of one factor constant 
cw;gj;jpapy; Vw;gLk; khw;wj;ij mstPl;L tpisT tpjp Ma;T nra;tJ 
A. midj;J cs;sPLfSk; xNu tpfpjj;jpy; mjpfhpf;Fk; NghJ 
B. midj;J cs;sPLfSk; khWg;gl;l tpfpjj;jpy; mjpfhpf;Fk; NghJ 
C. xU cs;sPL khwp kw;w cs;sPLfs; epiyahf ,Uf;Fk; NghJ 
D. xU cs;sPL khwh mstpy; kw;w cs;sPLfs; khWk; NghJ 

 
104. If the production iso-quant is ‘L’ shaped, the two factors are 

 A. Imperfect substitutes  B. Perfect substitutes 
 C. imperfect complements  D. perfect complements 
 
  
rkNehf;F cw;gj;jpf; NfhL ‘L’ tbtj;jpy; ,Ue;jhy;> ,uz;L cw;gj;jp 
fhuzpfspd; jd;ik fPo;f;fz;l xd;whf ,Uf;Fk; 
A. Fiw cila jpwd;   B. epiw cila gjpypfs; 

C. Fiw cila rhh;Gfs;  D. epiw cila rhh;Gfs; 

 
105. Price per unit is indicated by which of the following curves? 

 A. Total revenue curve  B. Average revenue curve 
 C. Marginal revenue curve  D. None of these 
xU myfpd; tpiyia fPNo nfhLf;fg;gl;ljpy; ve;j tisT NfhL 
Rl;bfhl;Lfpd;wJ 
A. nkhj;j tUtha; NfhL  B. ruhrhp tUtha; NfhL 
C. ,Wjpepiy tUtha; NfhL D. Nkw;$wpa vJTkpy;iy 

 
106. The subject of price theory comes under 

 A. Micro Economics   B. Macro Economics 
 C. Monetary Economics  D. Environmental Economics 
 tpiyf;Nfhl;ghL vd;w ghlkhdJ ve;j ghlg;gphptpd; fPo; tUfpwJ? 
 A. Ez;zpdg; nghUspay;  B. Nghpay; nghUspay; 
 C. gzg; nghUspay;   D. Rw;Wr;#oy;  nghUspay; 



 

 

 
107. Who said, “under capitalism, the consumer is the King”? 

 A. Frederic Benham   B. Alfred Marshall 
 C. John Maynard Keynes  D. None of these 
 “Kjyhspj;Jtj;jpy; Efh;Nthh;jhd; murdhf ,Uf;fpwhh;” $wpath; ahh;? 

 A. gpulhpf; ngd;̀ hk;   B. My;gpul; khh;~y; 

 C. [hd; Nkdhh;L fPd;];  D. ,tw;wpy; vJTkpy;iy 
 

108. Which hypothesis is based upon the theory of indifference curve of Hicks and 
Allen? 
 A. Weak ordering hypothesis  B. Strong ordering hypothesis 
 C. Static ordering hypothesis  D. Dynamic ordering hypothesis 
`pf;]; kw;Wk; Mydhy; $wg;gl;l rkNehf;F tisNfhL Nfhl;ghlhdJ ve;jf; 
fUJNfhspd; mbg;gilapyhdJ? 
A. eypT thpir fUJNfhs;   B. gykhd thpir fUJNfhs; 
C. epiy thpir fUJNfhs;   D. khw;w thpir fUJNfhs; 

 
109. Which book was published by J.R. Hicks in 1956? 

 A. A Revision of Demand Theory B. Principles of Economics 
 C. Price Theory     D. Value and Capital 
 ve;j Gj;jfk; N[.Mh;. `pf;]pdhy; 1956Mk; Mz;L ntspaplg;gl;lJ? 

A. Njitf;Nfhl;ghl;bDila Xh; kW rPuikg;G 
B. nghUspay; Nfhl;ghLfs; 
C. tpiyf;Nfhl;ghL 
D. kjpg;G kw;Wk; %yjdk; 

 
110. An indifference cure is always 

 A. Concave to the origin    B. A vertical straight line 
 C. A horizontal straight line   D. none of these 
 rkNehf;F tisNfhL vg;nghOJk; 
 A. Njhw;W tha;f;F mfk; Ftpe;jpUf;Fk; B. nrq;Fj;J Neh;NfhL 
 C. gLf;if Neh;NfhL     D. vitAk; ,y;iy 
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